H & 0l & AHS B Ml A

0248 =& 1 3 dEtalH 018 ~ S3PHA=ES

SN Z0l1H
I X SHA
ool Ledd=d (S &)
A -3 - AA(3H) - MRAY - BE= 0ff &r2H Jl & o Hns2
who|o 2,353,506 2,107,506 246,000
PASNE=ES 578,106 527,106 51,000
QUBISH A = R 578,106 527,106 51,000
MM AQ X 69,092 26,092 43,000
405 KHAHE SH 45,340 2,340 43,000
01 T SEFSH| 45,340 2,340 43,000
OASHISIHEII) 43,000,000 *1CH 43,000 0 43,000
A9 2| 56,163 48,163 8,000
401 AlEHIL 200 11,850 3,850 8,000
01 Al&H| 11,850 3,850 8,000
OHEAL =HAMAH| B4 8,000,000& 8,000 0 8,000
KIS oH e 588,268 393,268 195,000
KIS N AL 588,268 393,268 195,000
AR F0I=SIAY 482,052 287,052 195,000
401 AlEHIL 200 482,052 287,052 195,000
01 Al&H| 480,000 285,000 195,000
OMH&22| OFARG M I AHL=200m)
20,000,0002 20,000 0 20,000
O®=22] 2HEHIZAHL=100m)
40,000,000 40,000 0 40,000
O 32| 2 HIZAHL=50m)
20,000,0002 20,000 0 20,000
OT0l2| HH=2 HH|ZAHL=160m)
40,000,000 40,000 0 40,000
O A2 S2EZETAHL=70m)
30,000,000& 30,000 0 30,000
ORE22#22| OtA2LMNRI|ZAHL=150m)
20,000,0002 20,000 0 20,000
OXEZ212| S2EEZAHL=100m)
25,000,000 25,000 0 25,000




Hl £ 0l & AL E Al M
02445 =3 13 el 5018 ~ NS S
FA SEH
3 UxdE
el ety = (SH9 H2)
A -3 - GRA(3) - ARAY - BES Ofl &2y I3 ] ImE=r",
=Rt 2,100,546 1,829,258 271,288
INPNEEEES 436,624 420,336 16,288
L P B 436,624 420,336 16,288
HIYYR=A 20,549 20,461 83
201 LetEaY| 19,349 19,261 88
01 At 2teltl 10,428 10,340 8
O0l¥s M 8,800+ 10H 83 0 83
ZSAE =7 2L 77,848 69,448 8,400
201 £er2aY| 24,940 16,540 8,400
2 s==3tl 19,170 10,770 8,400
OHOIE=ZE HIIRa 800,000« 12& 9,600 1,200 8,400
FUTAME 2SS 80,800 73,000 7,800
405 KHakF S| 7,800 0 7,800
01 XM= FH =8I 7,800 0 7,800
osgdtl(sxa2) 7,800,000 7,800 0 7,800
NN 649,581 394,581 255,000
NSNS AL 649,581 394,581 255,000
2T 2FU=2AY 567,232 312,232 255,000
401 AlZHIL 2 0HY] 567,232 312,232 255,000
01 AlZHI 565,000 310,000 255,000
O=cl 64-18X LA NE HHISA
150,000,0002 150,000 0 150,000
OR=c| M-8l L3 SZEISA
60,000,000 60,000 0 60,000
OAlISel 4857 =2 FHISAHL=300m)
45,000,000 45,000 0 45,000
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H & 0l & AHS B Ml A

0248 =& 1 3 dEtalH 018 ~ S3PHA=ES

A ANES
M HZRIZHI(AES)
s Jl=2ghl EER=E)
SA - BB SLA(BH) - NSAY - BES 0fl 04 o) DS
AES 1,081,052 1,079,811 1,241
HH2LIHI(AES) 777,754 776,513 1,241
Jl23H| 73,439 72,198 1,241
Jl=3Hl 73,439 72,198 1,241
201 ZB=EhI 43,459 42,218 1,241
02 33234l 24,251 23,010 1,241
OHAEH BL JIZANERES

1,241,000& %12l 1,241 0 1,241
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0248 =& 1 3 dEtalH 018 ~ S3PHA=ES

2A: =21
g FOlgo|derst
el OlSt2 0tSxd EER=E)
A -3 - SRA(3H) - MRAE - BES Ofl &4 I3 A Husz
=215 1,109,279 1,103,879 5,400
Folatol ey 293,822 288,422 5,400
OtSCHZ Ot=2x4 293,822 288,422 5,400
ArEHA 22,789 17,389 5,400
401 AIEHIL 20| 5,400 0 5,400
01 Al&EHI 5,400 0 5,400
OM=2olE Hotx HM & = 83 F
al 5,400,000& 5,400 0 5,400
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- SHRABA) - HRAY - BES

Ofl &F2H

ol ® o

1,327,134

1,320,734

6,400

295,936

291,936

4,000

295,936

291,936

4,000
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4,000

4,000

0

4,000

1,500,000&

2,500,000 *1HK

4,000

1,500

2,500

0

0

4,000
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2,500

0

1,031,198

1,028,798

2,400

78,934

76,534

2,400
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300,000 +8H
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0248 =& 1 3 dEtalH 018 ~ S3PHA=ES

NS S
FoIgol & oy
oIStz 0t=xd EER=E)
A -3 - SRA(3H) - MRAE - BES Ofl &4 I3 A Husz
=EPINEETS 1,814,608 1,808,927 5,676
Folao] & g 580,725 575,049 5,676
OISt =4 580,725 575,049 5,676
A e 25,824 20,148 5,676
401 AIEHIL 20| 5,676 0 5,676
01 Al&EHI 5,676 0 5,676

OFAI 285 =TAIE 2= 5,676,000 5,676 0 5,676




